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The article suggested the method of evaluation of the quality of decision making trading strategies
which analyzes the profit potential of the strategies when compared with the standard. Adap-
tive polynomial models and combined models of selective and hybrid types allowed building an
integrated multilevel model of time series forecasting.

� ������ ������������  !��" �#��$% �$���� ���&�'%( ���)�!&�* ��%*����� ��+!��� �$%* )�),

-�.�� ���!�#�)- ��%���$�'���� ���)�!&�*� ����'�//0% 1( . !�)-��� � 2���"�')�� ���!&�)�%'��

�)&)����'�!'�  �"!-� ���&��.�')��� 0)��'%( ��"�'� �) ����'� )")��%'�%( ��-��� �)-��%(  �,

"!-!* �) $� ����')�%(  �"!-!* �!-!$�%'��&� �) &���%"��&� �%��'�

�'()*� �
������� 
�����  �!� �" �� �#��$������ %��
�&�' �� ��(���  ��
 $���� #� �������� ��
��� �)� �� ��(� %
�&(�!��* �������*+ � � ** %
����#��
 ����� ,�&��  �����' #���$� %�
��&�$���� 
�# ���� �������*  !��&�����!�
�� ���� � %�%�
����" ����" 	��-�
!���*�� . #�(�
�����  �� ���&(� ����� 
�#��"
-����
� 
�#
�#��/�� ����  ��� %
����#� 0

1� �����!�$��� %
����#+ ���� "�
����
�#�' #���(���� 
�# ���� �����!���
�� %� ��� %�
���2

3� %
����# �����
����*+ )�  ���&
�
�' �$��� ��� ��
�����/ � �������2

�� %
����# 
�# ���� ��"��(���� 	"�
����
�#�' ������ 
�#��" ������" �� �  ��
���� #� ����%����/ %�
�!��
� + ��%
��(��+ �-���� �����+ �����!�$�����+
�
���!��������+ ���
��'!����� � �����2

�� �����(���� %
����# 	 ���&
�
�' ��� (���� (/��� �� 
�#��" ���%�(���"
� �)��

4����� %
����#� ���� !�
�� �!� �� %���(��� �� �
� �
�%�0 ��(������+ ����
��� �� ��-�
!�(���� ��
�� �
�%� !�' � �*  ���� 5�%
��(��+ ��(������ %���(�/�
���� �� ���(�# $��� �" 
��� � %
�$��������(���� � !���(/ ����2 ������ 6 ����
%�
���" ������+ �$��� ���" ������+

”
!�#�� �* �����“2 ��-�
!�(��� 6  �
&�(���*

��-�
!���*+ %���!� �* ��-�
!���*+ %
�!��(� ��� �%������ �� ��(� &����� 
�#�
�(����� %��"��� 
�#
�"���� %
����#� #� ��%�!���/ $��� �" 
��� �

�
����#� ���� ' ����'/ # ���&�(�� ��(����"+ �(�  ��� 
� $�� ���&�(��
#��
�&� ���" #���$ ����������� 7����� !�
(� �" �(�"� 
�# ���� %
����� �
!��&�����!� 
�#�(���'����  ���
�#��!��������" ��(�#�" (/�����* ���(������+
����" �� %
�!��(� �  �
�&���� �+ �����!���+ ����� ��)�� �
����#� ���� ���
��
 ��
��� #������ �'���� �� -���� �!� 
����+  &���� ����� �%
� �+ ��
�"��
 �!� &�#����+ �-�
� �(���
����* ��!�
��*+ ��
�� (� � !�
�������� �
����#� ����
$���� ' ��#�!����/ ��(��� �/ %
������� �%
� (������" 
����� �  ���
���� �'�
���� # !���/ �
����#���* %
����� �%
� (���� �� %� ��" ���%���
����" ��&8'��� +
��� � �����!���  ��(�!��

�)�$� '���%$ �3&���" ��,��� 45��� '%�� 44



������ ���	
���
�

� ��� ����
���� ������

�� ����
� ��

� ��������	 
����	
�
���� ��������
� ��������� �
�
�� 	����
�
�
� ��
�
���
���� �
����
�� ������� ��������
���� ���
� �
�
��
�
 	������ ��
 ��
��

�
��� ��������� ��������� ��
��
 �
���� �
���� ��
���
�� 
 �
����
�� �
����
�
 	������ ��
 �
���
 � �
������� ��� 
�
�
�� !
����� ���
� 
 ���������
���
"#$%&'
(�� �������
��� �
�
!
 ���������
��� ���
����� ���
���
 ���!���� ��
�
�)


�
�
� ��������� �
 �������
 ������
 ��
����� !
������ ����� �������
 	����
�
� ���������
���� ��
�
�
�
� �������� �
 ����	���� 	������ ���������
����
��
��
 �����
 ���������
���' *� � ����� ��
 �������
������ + �������
�
	� ���
	
���
�� �
�
������ ���
����
� 
 	���� ����
�,���� + ����	
��� �������
�
�
� ����
��
 �
 ������ �� ���
�����  � ���� ��
�� 
 �
	�) �������
 ����	
����-
�������- ���
���
- ��������� �
���� ./0123' 4�
��
 �����
 �������� ���
���
�
+ ���
��+	��� ���
����� -� 
�
��
�
- �� �������� �	���  � �����
+ �
 ������
����
��� ��
+- �����	�' 2������
 �
�
���� /012 �
 ��
��
 -� �����
 	�,� ������
�� 	
�
	�	� ��	����� ��
 �����
��� � ���
��
��
 �
�
�
��	' (���
�,���� ��
�
�
��- ������	� + 
���
����	 ��� ����
- �
 ��
�����'
5
�� ������ �����
+ � ����
�,���
 ��
����
������ 	����� ��
��� �����


/012� ���� 
�
�
��+ ������

� ������������
 ���
���
� �
 ���������	� !
�
����	� ���
'

��������	�	 
	�	��������	 ��
��� ���������	���� 6��
� z (t) $ !
�
����� ���' *� � ti = t0 + Δt� (0 ≤ i ≤ n)� t0 $ ��!
������ !
�� Δt $ !
�����

�����
�� ���
 !
����� ��� 	�,�
 �
���
�� � ������
)

Z = (z0, z1, . . . , zn) = (z (t0) , z (t1) , . . . , z (tn)) . .#3

�
�
!
 ���������
��� �����
+ � �������
 �
��- 	����
M � ��
 ��� ���
������
s� 0 ≤ s� ����
!
�
 � ��������� ��
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	�� � �������� ��� ��
������ �
����������	
τ �  �	�� 
��������� � ���������	 
��
�
����! ������� �����	���	 ����� ���
"#� $%�

������ ���	
� 
����
�� 	
��
���� ������

� ������� &�!�� 
����	���
����	 ��	�� ��
���� ��
�����	 �
���	��	 
�'��� ()*+,-� �� ������ 	��. ������
����� �����������	 ����� �������� 
	��� �
�������� ��	 ��������	 ���
����
������� �� �
������ +
� ��������� ����������! ���
���� ���������	 ���������
���� ������� � S0(�
�'��� ������- �� S1� )��� S1 = NS0 �
�

N =
S1

S0
,

�� N ����������	 ������������ ���
��������	� /��������	� 0� 	�0� N > 1�
�� ������ �
���'����	� 	�0� � N < 1 1 ����'����	� 2�0� 
����	������	
��
� )*+, A1 � A2 � ������������� ���
��������	 NA1 � NA2 ����������� �� .!
����� ��
���	�� �� ��
������3

Φ (A1, A2) =
NA1

NA2

�
� F (A1, A2) =
NA1

NA2

· 100% .
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	�� �
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��� ��������� �
���� (45-� 	��� ���	��� �
���������� ����������� ���
��������	 ������� N � '�	!�� ��������	 � ������
����� ��������� ���
���� �
������ � � �����! �������� ���
���� ������� ����

���' ���������� ������ 2�0� zki

1 ����� �������� � zmi
1 ����� �
����� ��	


	�� (6-� ki < mi� i = 0, 1, . . . , r� � r 1 ��������� ����� ������� �� �
������ ��

Sr = S0

(
1 +

zm1 − zk1

zk1

)(
1 +

zm2 − zk2

zk2

)
· . . . ·

(
1 +

zmr − zkr

zkr

)
,

Sr = S0 zm1

zk1

zm2

zk2

· . . . · zmr

zkr

,

���� ���������� ���
��������	 45 �����������	 ���3

N =
zm1zm2 · . . . · zmr

zk1zk2 · . . . · zkr

.

,����	���� ��� ���!��� 45 ��	 ���������	 ����� ��������� � ���������
5��'��� �!���� �� 	��� ��
'�� ���!��� 	��� ����������	 5
�����6� ��������
���������� ������ 2�0� z0 < z1� �� z0 1 ����� ��������� ��
�� zk1 = z0� 	�0�
� z0 > z1� �� z0 1 ����� ��������� � zm1 = z0�  ���� �� ����� 0� ����
������
���
����� � ����� zk 
��� ������	� ��
���
	��� ��
�������3 zj < zj+1� k < j�
2�0� ���������	 ���� ����� zj� 0� zj > zj+1� �� zj 
��� ������ ��������� �
zmp = zj� 7� ������ 0� ����
������ ���
����� � ����� zk 
��� ���
���	 �
������
��
���
	��� ��
�������3 zj > zj+1� m < j� 2�0� ���������	 ���� ����� zj� 0�
zj < zj+1� �� zj 
��� ������ �������� � zkp = zj� p = 1, 2, . . . , r�  
���� ���!���
������� ���� 5
�����8� ���
���	����	 ��� ��
'��� �������� ���������	��� /
5
������8 ����� ��������� zm ��� ��
������� !��� 
 ��� ����������! �������!
�
�
���� ���������� 
	�� Δz = zj − zj−1 > 0� j = m,m − 1� ����	 ����� zm

����� ������ ������� �� !�� �"##� ��$� ��
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������� �
��� �������� zk� �� ��� ������
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�������	 ����
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 ���� Δz = zj − zj−1 < 0�
j = m,m − 1� ����� �
��� zk ����� ���� 	
�� � �
� �
����

��	 �
�����	
����
��� Δz = zj+1 − zj > 0� j = m,m + 1�
�� �� ��!
 T1, T2, . . . , Th " ����� #$�% � �
����� ����
�� zd

k1
, zd

k2
, . . . , zd

kld
�

�
����� ��
�� � zd
m1

, zd
m2

, . . . , zd
mld
� �� ld " ������� ��������� �
�
� ����
�� ��

��
�� � d&
' #$�%� d = 1, 2, . . . , h� �


Nd =
zd

m1
, zd

m2
, · . . . ·, zd

mld

zd
k1

, zd
k2

, · . . . ·, zd
kld

,

�� Nd " �
�(�)���� ��*�
��� ���� d&
' #$�%� +�!
 N " �
�(�)���� ��*�
��&
� ���� �������&, ��
 �������&-� �
 �(����
����� d&
' #$�% 
����������� ��
(
����
�.

εd =
Nd

N
· 100% =

zd
m1

, zd
m2

, · . . . ·, zd
mld

zd
k1

, zd
k2

, · . . . ·, zd
kld

· zk1 , zk2 , · . . . ·, zkld

zm1 , zm2 , · . . . ·, zmld

· 100% .
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 �� �������
�
*
 ����
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������ 

�
�)� n �� τ ��
��
 ������ �� 
��

� �
����� � ��
 ��� ĨBS� p = 1, τ � j = 1, q� τ
" *
���
�� ��
*�
��
����� q = card

(
ẑj

p (n)
)
� /�� �
 �
' �
���� ��
*�
��
����

���
��
 � 
���

������� �
	����.

Ep
j =

1

l

n∑
i=n−l+1

(
1 −

∣∣ẑj
p (i) − zi+p

∣∣
zi+p

)
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����� � ��
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���� �
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��)�� 
 �
�)� n� ��!


��
������� ����
����� zn < ẑ∗p (n) ��� 
��	 p = 1, τ �
6 �����)� - ��
����
 ��������� �����
���� ����
�
�

��
' #$�% ��� ��&

���	 ������� τ �� �������� ���� )�� �� �����
. 5�� " 
���
�
� �������

�	

����)��� 7� " ��������� 
����)��� 70 " �
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��� �����
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� !
 ������������ �
�(�)���� ��*�
��� ���� 
������&

���� ��� τ = 7 � ����

��� N∗ = 4, 59� /�� τ = 7 
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�
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������� �	

��������� ����	
���� 
��� �� �������� ���	 ��� �� ������

��������� �	�
 \ τ � � 
 � � � � ��

��� ����� ����� ����� ����� � ��� ����� �� ���� 
�� ��� ��� �! �" �� �� �! ��
�� ���� ���� ���� ���� ���� ���� ���� �� �

#�$ = 73, 21%% &��'���� ���(���)��	 ��*�����+���� $���	��,� N1 = 509, 21�
$���	��,� - N2 = 10, 98% 
���� '����� �(����
����. /��������
���0 
��� 
��,
����� $���	��,� ε1 = N∗

N1 ·100% = 0, 90%� � 
������� $���	��,� - ε2 = N∗
N2 ·100% =

41, 80%% 1�2� ��/*������ ������) ��*�����+���� �� ���	 �������3 4 C∗ - ���.,
����. �������5 
���� C1 � C2 - ���.����. �������5 $���	��,� � $���	��,� 
��,
��
����6� �� �(����
����. 
��� 
������� $���	��,� ε̃1 = N∗

C∗
C1

N1 ·100% = 6, 21%�


������� $���	��,� - ε̃2 = N∗
C∗

C2

N2 · 100% = 47, 77%%
��������/	)��� �� ��
����. ���� 7$ �� (��.���
���8 ����8% 9 �������  

����/��� /��'���� ���(���)���
 ��*�����+���� 4:;6 � ���.����. �������5 4:$6
$���	��,� �� $���	��,� �� (��.���
����	 ���� ��� �� ������% #��������
	
�,
���� (��.���< ������ 4���6� ������������.�� 47��6 � ����5��,/
�+��� 4=&��6
������ ������� / ���������� /*���+	
���� �& = 1, 10% ��������/	
�
>� �����,
�3  � ��+�� /������ 
����
��� 2� /� /���.>����� ��������	 /*���+	
�����
/���>	)�.�� ���.����. ��*�����+���8 ����
�
 /� ��8	��� /���>���� ���.��,
��� �������5% ����� ��� $���	��,� ��/��'�� (��.������ 
8����*� ���	 (�& = 2)
��
���� ����'���) /�������� ���.����� �������5 
 ������.��	 
 1, 6 ��/�
 � /��,
������ ������'���8 ����
�
 
 ������.��	 
 3, 89 ��/�
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